Math 20 Unit #4 74107.6;8.1t08.5 Mathematician:
To the Test—be sure to bring:

(1) your personally-prepared 8 % “by 11’ study guide for this test

(2) your simple, non-graphing calculator and

(3) your pencils

(4) your BluGold ID
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6. Develop the equation you need to solve this problem, list it, and solve the problem.
The product of two consecutive integers is 71 more than their sum. Find the integers
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The product of two consecutive integers is 419 more than their sum. Find the integers
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7. Develop the equation you need to solve this problem, list it, label the diagram, and then solve the

problem. _
The length of the longer leg of a right triangle is 47 cm longer than the shorter leg. The hypotenuse is 2
c¢m longer than the longer leg of the triangle. What are the lengths of the three sides of the triangle?
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The length of the Ionger leg of a rlght‘)‘?rlangle is 31 inches Ionger than the shorter leg. The hypotenuse is
1inch longer than the longer leg of the triangle. What are the lengths of the three sides of the triangle?
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8. Write the following rational expression in its lowest terms.
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9. Write the following rational expressions in lowest terms.
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11. Divide. Be sure to simplify your answer.
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12. Add and simplify if possible.
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13. Combine and simplify if possible.
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14. Combine and simplify if possible. Leave the denominator in factored form.
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